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Q:1 Select the option that is related to the third
image on the same basis as the second image is
related to the first image:

Q:4 Select the option that is related to the third
image on the same basis as the second image is
related to the first image:

Q:2 Select the option that is related to the third
image on the same basis as the second image is
related to the first image:

1L.C
2.D
3.A
LA 4.B
2.B
3.C Q:5 Select the option that is related to the third
4.D image on the same basis as the second image is

related to the first image:

Q:3 Select the correct image that will appear in
place of a question mark.

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal ey

Google Play
QO +91 - 8436586516, +91-8436900456

B thedhronas@gmail.com
@ thedronas.com S




]” THIE _
IDHRONAS | DAer |

Ensuring success through skills

SSC Banking WB Police = WB Civil Services Other Competitive Exams

Special Question - Logical Reasoning English

GETITON

@ Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal Google Play

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com

@ thedronas.com f' > 9




l THIE _ DAILY
I HIRONAS DOSE

SSC Banking WB Police = WB Civil Services Other Competitive Exams

Date : 20th Nov 2023 Special Question - Logical Reasoning English

IAnswer Key

1.(3) 2. (1) 3.(3) 4. (4) /5. (3) I

Q:1 The correct answer is Option 3 i.e.C
The pattern which follows here is:

The figure with one less side will be placed in the
next figure.

Hence, in the fourth figure square will come.
Hence, Option 3 is the correct answer.

Q:2 The correct answer is Option 1i.e. A
The pattern which follows here is:

The outer figure of the first figure will be removed
in the second figure.

The lines inside the outer figure will be present in
the second figure.

Hence, the correct answer is A.

Q:3 The correct answer is Option 3.

The second figure is the water image of the first
figure which means, the first figure is vertically
inverted to get the second image.

Similarly, the fourth figure will be the water image
of the third figure.

Hence, the correct answer is Option 3.

Q:4 The correct answer is Option 4 i.e. B

In the second figure, upper and lower arrow is in
opposite direction of first figure and middle arrows
are shifted to right in the same direction.

Similarly, the fourth figure will be figure B.
Hence, the correct answer is B.

Q:5 The correct answer is Option 3i.e. C

From Figure 1 to Figure 2, triangles have changed
to squares and squares to triangles. Similarly, in
Figure 3 to Figure 4 the circles will turn into
pentagons and the pentagons will turn into circles.
Hence, the correct answer is C.
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